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Numeroiden prosenttiosuus (puuttuva luku)

x 90% = 38.7
x 10% =7

x 90% = 89.1
x90% =71.1
x 40% = 9.6
x 90% = 27

x 60% = 34.2
x 40% = 13.6
x 60% = 48.6
x 30% = 18.6

Paivamaara: _ Pisteet:

x 50% = 49.5
x 50% = 8

x 40% = 24.4
x 50% = 20

x 10% = 0.2
x 60% = 51.6
x 50% = 11.5
x 50% = 48

x 20% = 4.2
x 30% = 15.3
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Numeroiden prosenttiosuus (puuttuva luku)

Nimi:

43 x 90% = 38.7

70 x 10% =7

99 X 90% = 89.1

79 x90% = 71.1

24 x40% = 9.6

30 x 90% = 27

57 x 60% = 34.2

34 x40% = 13.6

81 x 60% = 48.6

62 x 30% = 18.6

Paivamaara:

99 x 50% = 49.5

16 x 50% = 8

61 x40% = 24.4

40 x 50% = 20

2x10%=0.2

86 x 60% = 51.6

23 x50% = 11.5

96 x 50% = 48

21 x20% = 4.2

51 x30% = 15.3

www.snowmath.com

Pisteet:



https://www.snowmath.com

